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1 2 3 = B8 BE J[:{v4
6 — 0|6 — 1 2-0 0.923 1
0 -6 6 — 0 1-1 0.500 2
1 -6l0 -6 0-2 0.077 3
HANM:1-2=2-321-3  (REFEINewf—L)
1 2 3 - R BE JIEfT
6 — 1|6 — 0 2-0 0.923 1
1 -6 6 — 1 1-1 0.500 2
0-6[1 -6 0-2 0.077 3
HAlE: 1-2=2-3=1-3  (FREFENewi—)L)
1 2 3 — B BE J ;{4
TS
rrrrrrrrrr AL 0-6[2-6 0-2 0.143 3
UNHSTC
EEI—
e 6 -0 6 - 1 11 0.923 2
6 - 2(1 -6 2-0 0.467 1
HAME: 1-2=2-3=1-3  (FEFENewR—)L)
*BFFRU-Y
A (4&1-H) 1 2 3 4 i B NELT
B tetetete
1 Lo 6 — 1|6 — 1|6 — 3| 30 0.857 1
E A
2 1 -6 1 - 6|0 - 6| 03 0.143 4
1 - 6|6 -1 0 - 6| 12 0.500 3
6 - 1/6 — 0[6 — 0 2-1 0.923 2
HANE : 1-2 = 3-4 = 1-392-421-42-0 (FEF(ENewi—)L)
1 2 3 — B BE JIEAT
6 — 2|6 — 1 2-0 0.800 1
2 -6 6 — 3 1-1 0.471 2
1 -6|3-6 0-2 0.250 3
HAlE: 12> 23> 1-3 (FREFENewR—)L)
1 2 3 — B8 B= BT
6 — 1|6 — 0 2-0 0.923 1
1 -6 6 — 2 1-1 0.467 2
0-6[2 -6 0-2 0.143 3
HAlE: 1-2=2-3=1-3 (FREF(ENewR L)
1 2 3 = 58 BE ;{4
6 - 5(6 -0 2-0 0.706 1
5 -6 6 — 0 1-1 0.647 2
0-6/0 -6 0-2 0.000 3
HalE: 12> 2313 (REFENewR—)L)
1 2 3 = R B JIEfT
1 - 6|6 -2 1-1 0.467 2
6 - 1 6 — 4 2-0 0.706 1
2 -6l4 -6 0-2 0.333 3
HalE: 1-2=2-3=1-3 (FREF(ENewR—)L)
1 2 3 — 2158 B= T
6 — 0(6 — 0 2-0 1.000 1
0 -6 6 — 3 1-1 0.400 2
0-6[3-656 0-2 0.200 3
HANE: 1-2=2-3>1-3 (FEFENewrR—)L)
1 2 3 = 58 BE NERT
1 -6|3 -6 0-2 0.250 3
6 — 1 6 — 1 2-0 0.857 1
6 — 3[1 -6 1-1 0.438 2
HANE: 1-2 = 2-3 > 1-3 (FREFENewrk—)L)
1 2 3 = R BE JIEAT
6 — 0|6 — 2 2-0 0.857 1
0 -6 5 -6 0-2 0.294 3
2 -6/6 -5 1-1 0.421 2
HAlE: 1-2=2-3=1-3 (FREF(ENewR L)
1 2 3 - R BE JIEfL
2 - 66 -0 1-1 0.571 2
6 - 2 6 - 0 2-0 0.857 1
0-6/0-56 0-2 0.000 3
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:1-2=2-3=1-3

(FREF(ENewR—)L)




